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Sl KBNS HEE s CERED
SN B SR(EH) - MBAY - BES 0l &t o p/E-T HDE2
NgH Hegs X 48,220 50,600 A2,380

201 Ye 2yl 45,220 47,600 £2,380
01 AtR2eltl 45,220 47,600 2,380
RISl ADIEZ 9 FDI24e M} o4
B2 A 11,620,0002 1,620 14,000 £2,380
Hegzge SHYHMD L B AH S 203,891 205, 444 A1,553
SDXE 1 NS BRDX AHS
SlE T SEX ¢ 65512 Y
SHXIFY RHHE 29 27,617 29,070 A1,453
201 e+ 27,617 29,070 A 1,453
01 AR22ltl 27,617 29,070 A1,453
R Hael o2iag 22 2 8,267,000 8,267 9,720 A1,453
XA HEIHa 1,900 2,000 A100
203 YREZ Y] 1,900 2,000 A100
03 ANEZZAREZY| 1,900 2,000 A100
NLHH HE 2o 42=N ZY
A 1,900,000 1,900 2,000 A100
HH2S YA (MY L) (OIEH/IIE) 196,403 202,055 A5,652
o= 2l 196,403 202,055 75,652
EETH 196,403 202,055 75,652
201 Yoyl 55,205 56,580 A1,355
01 AtR2eltl 55,225 56,580 A1,355
SN2Y J=248H BEY AT 25,745,008 25,745 27,100 A 1,385
202 01H| 136,219 140,255 £4,086
01 =Uioitl 136,219 140,255 £4,036
2ol EZOIH B A 76,699,0008 76,699 80,735 £4,086
203 YREZ Y| 4,959 5,220 A261
04 RA2YYRETY] 4,959 5,220 £261
SNRYALEMY BZ  FH 4,959,008 4,959 5,220 £261




